Sechon 1.A:  Subsels

Tuesday, September 23, 2014
3:04 PM

Subsess set A 5 a  subsed of R
& Q/Wj member of A alse
b"«(osz o B

\\‘,S a subsed of ’

eamples 73,3 «3 < N

—

N £ §23 9%

1
);,Lcnuso., ,Cd‘wanp(t,} [ s Aok
i~ £33 4%

a3y < §2343
§9,33 ¢ {933
faBl ¢ 1a3

N

hecause 37/{93

=
1A
"N

Sec 2 - Lectures Page 1



il} a 3, lo} < i“’o,”, £ .} T

¢<. {2 33 @

N P{C"/ ¢ s o sUbse of
Wy sed includiy e

Asetggiom:  (w\ Aor bt WS
Whodh s by <,u?

flas 3
{al‘ﬂl(e’ g

SUsets A < R
proprs sfosets A < @
— Sef A’ 'S ] (foPlf sbsed  of B
£ vy membes of A belongs
b B and Al 3 b (amed one
membt of b Yol s ok v A
ecample s

333 ¢ %343, 73 157 §

Sec 2 - Lectures Page 2



1233 & {a, 3%

S SN
nged en &l LLG-J'\ILM'
A hae  dhat Bnt 1n

Yho o b - Fo ket
M@fﬂ' sedt he

q(p@g/ gMosed
noke: 3433 < {&/3%

Tor o Kl ?
T 4 < N
= d c 4
T N OC 2
T 5245 C X[ X 3 s awen kg3
v %{a,"(,(:, 3 C ? j ’ J 3 an en nehuy)
nom b/
7 :
fhese sets are equsl
@ qvega\mg:
wa <
S!A'NJ /\[ @é— "CZ’N replac »w)'t,# fl
1;1'39\4 (a3) & 2 = J
/a.é

Sec2-Le

ctures Page 3



N2

wleng .

$a3)3 < {(LQ)/ G, 3)/ (3,9}
G € 10,3)@3) (3,9)f

Nefdna w3

—

Jse Cl S) and =

we € b CS""\'UCVQ 0\0)4—01'3 s & ot L h
e seb Ttaele

__ €N
,\W‘Z:r era«‘nmlow
Non- @il gueshons:
Trve « Wlee?

-3 e & T
-3 ¢ N -

-33 = N -

$-33 = 2 T

5-3%3 ¢ §-33 T

Sec 2 - Lectures Page 4



